@ toppr

Download Toppr - India's best learning app for classes 5th to 12th

Online Classes

Learn for free with short
videos and live classes

Learn for
free with the
best videos

Moment of Inertia

» ] (-]

+

Hello,
What would you like
to learn today?

.
Prysics ey S

360° learning with our adaptive platform

@ ©

Mock Tests Live Doubts

Be exam ready by solving all Chat with tutors and get your
India tests and previous years’ doubts resolved instantly,
papers 24x7

Adaptive Practice

Practice smart with questions
created for your unique needs

Practice smart
with personalised
questions

Polish your
basics with
fun games

o1 Qo

When the mains switch of the
house is switched off, it

Live1vs1 5
disconnects:

Comepte head on with online players

» PLAY NOW
A

-\
LIFIEY

Vocabulary

© Liveand neutral wires

r are
d & in order to
break the circuit.

SEE RELATED CONCEPTS. )

o

Live Classes

Learn concepts and get tips
from the best teachers with
free Live Classes

Get your doubts
cleared instantly,

+ M
Can you help me
with this?

Sure.Let me help you.

’ Download the app for

Hello,
What would you like

to learn today?

2

Chemistry Maths

3,986,828

© 9,184,321

. 492,461,127 A

FREE now

GET A 5-DAY FREE TRIAL

i [agigel"]
' App Store

= 8,017,171



https://play.google.com/store/apps/details?id=haygot.togyah.app&referrer=utm_source%3Dguides%26utm_medium%3Dlanding_app_fragment
https://apps.apple.com/in/app/toppr-learning-app-class-5-12/id1043125663

NCERT Solutions for Class 8 Subject-wise

Class 8 Maths

Class 8 Science — Physics

Class 8 Science — Biology

Class 8 Science — Chemistry
Class 8 Social Science — History
Class 8 Geography

Class 8 General Knowledge
Class 8 Civics


https://www.toppr.com/guides/ncert-solutions-for-class-8-maths/
https://www.toppr.com/guides/ncert-solutions-for-class-8-science/
https://www.toppr.com/guides/ncert-solutions-for-class-8-science/
https://www.toppr.com/guides/ncert-solutions-for-class-8-science/
https://www.toppr.com/signup/?utm_medium=guides
https://www.toppr.com/guides/ncert-solutions-for-class-8-geography/
https://www.toppr.com/signup/?utm_medium=guides
https://www.toppr.com/guides/ncert-solutions-for-class-8-civics/

5/30/2018 https://community.toppr.com/content/questions/print/?show_answer=1&show_solution=1&page=18&qid=463394%2C+463397%2C+4 ...

#463393
Construct the following quadrilaterals.

(i) Quadrilateral ABC D

AB =4.5¢cm
BC = 5.5cm
CD = 4cm
AD = 6cm
AC =Tem

(i) Quadrilateral JUM P
JU = 3.5cm

UM = 4cm

MP = 5cm

PJ =4.5cm

PU = 6.5cm

(iii) Parallelogram MORE

OR = 6cm
RE = 4.5¢m
EO = T7.5¢cm

(iv) Rhombus BEST
BE =4.5¢cm
ET = 6cm

Solution
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L

1. Draw AD of length 6cm.

2. Cut an arc of 7 cm from A and 4 cm from D. Their point of intersection is C.

3. Cut an arc of 4,5 cm from A and 5.5 cm from C. Their point of intersection is B.
4. Join all the points.

ABCD is the required quadrilateral.

2)

1. Draw UM of length 4 cm.

2. Cut an arc of 6.5 cm from U and 5 cm from M. Their point of intersection is P.
3. Cut an arc of 3.5 cm from U and 4.5 cm from P. Their point of intersection is J.
4. Join all the points.

JUMP is the required quadrilateral.

3)

1. Draw OR of length 6cm.

2. Cut an arc of 7.5 cm from O and 4.5 cm from R. Their point of intersection is E.
3. Cut an arc of 4.5 cm from O and 6 cm from E. Their point of intersection is M.
4. Join all the points.

MORE is the required parallelogram.

4)

1. Draw ET of length 6 cm.

2. Draw its perpendicular bisector.

3. Cut an arc of 4.5 cm from E on the perpendicular bisector both above and below ET, the point of intersections are B and S.
4. Join all the points.

BEST is the required rhombus

B 5.5cm C J 4.5 cm P
S &
45cm v\?’c 4ecm 35cm !sb Scm
A 6 cm
M
M 6 cm
45cm
Q 6 cm
(i)
#463394
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Construct following quadrilaterals

(i) Quadrilateral LIF'T

LI=4cm
IF =3cm
TL=25cm
LF =45cm
IT =4cm

(i) Quadrilateral GOLD

OL="75cm
GL=6cm
GD=6cm

LD =5cm

OD =10cm

(iii) Rhombus BEND
BN =5.6 cm
DE=6.5cm
Solution

1)

1. Draw LI of length 4 cm.

2. Cut an arc of 2.5 cm from L and 4 cm from |. Their point of intersection is T.
3. Cut an arc of 4.5 cm from L and 3 cm from |. Their point of intersection is F.
4. Join all the points.

LIFT is the required quadrilateral.

2)

1. Draw OL of length 7.5 cm.

2. Cut an arc of 10 cm from O and 5 cm from L. Their point of intersection is D.
3. Cut an arc of 7.5 cm from L and 6 cm from D. Their point of intersection is G.
4. Join all the points.

GOLD is the required quadrilateral.

3)

1. Draw DE of length 6.5 cm.

2. Draw a perpendicular bisector of DE. The point of intesection is O

3. Cut an arc of 2.8 cm from O on the perpendicular bisector both above and below DE. The points of intersection are B and N.
4. Join all the points

BEND is the required rhombus.

\&
I~

#463395
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Construct the following quadrilaterals
(i) Quadrilateral MORE

MO =6cm

OR=45cm

ZM = 60°

Z0 =105°

ZR =105°

(iiy Quadrilateral PLAN
PL=4cm
LA=6.5cm

ZP =90°

/A =110°

ZN = 85°

(iii) Parallelogram HEAR

HE=5cm
EA=6cm
/R = 85°

(iv) Rectangle OK AY

OK =Tem
KA=5cm
Solution
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D

1. Draw MO of length 6 cm.

2. Draw an angle of 105 degree on O and cut an arc of 4.5 cm on it. The point of intersection is R.

3. Draw an angle of 105 degree on R and draw an angle of 60 degree on M. Their point of intersection is E.
4. Join all the points.

MORE is the required quadrilateral.

2)

1. Draw PL of length 4 cm.

2. Calculate the value of /L, which comes out to be 75°.

Draw an angle of 75° on L and cut an arc of 6.5 cm on it. The point of intersection is A.

3. Draw an angle of 110° on A and draw an angle of 90° on P. Their point of intersection is N.
4. Join all the points.

PLAN is the required quadrilateral.

3)

1. Draw E A of length 6 cm.

2. Draw an angle of 85° on E and cut an arc of 5 cm on it. The point of intersection is H. (/R = /E = 85°and /H = 959)
3. Draw an angle of 95° on H and cut an arc of 6 cm. Their point of intersection is R.

4. Join all the points.

HEAR is the required parallelogram.

4)

1. Draw OK of length 7 cm.

2. Draw an angle of 90° on K and cut an arc of 5 cm on it. The point of intersection is A.
3. Draw an angle of 90° on A and cut an arc of 7 cm from A. The point of intersectionis Y.
4. Join all the points.

OK AY is the required rectangle.

bl
V- C 7

s

-

#463397
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Construct the following quadrilaterals

(i) Quadrilateral DEAR

DE=4cm
EA=5cm
AR=45cm
ZE = 60°
ZA=90°

(ii) Quadrilateral TRUE

TR=35cm
RU=3cm
UE=4cm
ZR =175°
ZU = 120°
Solution

1

1. Draw E A of length 5 cm.

2. Draw an angle of 60 degree on E and cut an arc of 4 ¢m on it. The point of intersection is D.
3. Draw an angle of 90 degree on A and cut an arc of 4.5 ¢m on it. The point of intersection is R.
4. Join all the points.

DFEAR is the required quadrilateral.

2)

1. Draw RU of length 3 cm.

2. Draw an angle of 75 degree on R and cut an arc of 3.5 ¢m on it. The point of intersection is T'.
3. Draw an angle of 120 degree on U and cut an arc of 4 em. The point of intersection is E.

4. Join all the points.

TRUE is the required quadrilateral.

D R

4.5cm

#463398
Draw the following:

The square READ with RE = 5.1 cm.

Solution
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We know sides of square are equal. Thus RE = EA = AD = RD = 5.1cm.

First draw a line segment, then measure 5.1 cm in rounder and mark the arcs. Thisis line RE = 5.1 cm.
Then using protactor mark 90° and again mark 5.1 cm on that line segment. This is EA.

Again mark 5.1 cm in protactor and make line AD.

At last join points D and R.

This completes a square.

D A
1

R 5.1 cm E

#463399

Draw the following:

A rhombus whose diagonals are 5.2 em and 6.4 cm long.

Solution
1. Draw a line segment AC = 5.2cm.

2. Draw XY, the perpendicular bisector of AC'.

1

—(6.4) = 3.2cm.
304

4. Similarly, cut-off OB = 5(6.4) =3.2cm.

3. From XY, cut-off OD =

5. Join AD, DCCB and BA.

Thus, ABC D is the required rhombus.

#463401
Draw the following:

A rectangle with adjacent sides of lengths 5 ¢m and 4 em.

Solution

Steps:

1) Draw a straight line AB of length 5 em.

2) Draw perpendicular lines at A and B using protractor.

3) Using compass cut arc at the perpendicular from A and B of lengths 4 em.

4) Join these cuts with a line C'D as shown in figure.

5cm
D C
4cm
4cm
90’ ag
H
A 5cm B
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#463402
Draw the following

A parallelogram OKAY where OK = 5.5 emand KA = 4.2 em. Is it unique?

Solution
Only two dimensions of the parallelogram are given.
Hence, more than one parallelograms can be constructed.

So, not unique.
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